P"?“ 1‘?[ 1. A particle with chazge ¢ = 1.8 x 10~'°C and mass m = 1.67 x 10777 Kg is moving with

- _"]_'_ walocity v = 2 x 10° m/s through » maguetic Geld of 5 w 3.2 T. What s the smallest

£ pam angle beiwaen § and 5 if the particle expetiences » force of F = 2 x 10~ Nt
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2. A charged pariicle with & changs to mase ratio §.5 x 107 C/Kg is travaling parpendicu-
larly to & uniform magnetic fald B w 2.0 T. What i the angular frequency of rotation,
w, of this particle? i
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3. A oofl 6f 500 turns carsies & current of .2 A. The plane aves of tbe ceil is | A fm 0.2m. _
The normal 1o the plane of the ecil makes an angle of # = 37* with respect o the 5
fidld where B = 1 T. What js the magnitude of the forque on the enil?
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4. Two infinite straight paralle] wires each carry a current of 300 amperes, but in opposite
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8. Two infinite straight parallel wires are 5.6 cm apart. The wires carry currents of 10
' in the game direction. What is the force par unit lsngth between the two wires? lal}

attractive or repulsive? | .
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7. An infinite solencid with a circular croes section and with ares 6 exn? carrios & current of
1800 A. The solencid has 200 turns par meter along its Jength. What is the magnitude
of the B field in the center of the solenoid?
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‘ 12 Compute the self inductance per unit length of an infinite solencid coil. The erossec.
ﬂmﬂm-ﬂﬂm‘udn-mtumpnm A current J = 50 A flows ip the coil.
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